RIGOUR

W MNU 2-11a

Outcome 1 - Millimetres = Centimetres
- Metres

Change the following
units of measurement...

2 2

gy

& 32cm=2?2mm 58 cm = ? mm

-
o 186cm=?mm & 6923 cm=?mm
o 15m=?2cm £ 92m=?cm
L 729m=2cm 8 5294m=?cm

S 67m=>mm & 730m=?mm

Homework 5

Outcome 2 - Metres = Centimetres

- Millimetres
Change the following o
units of measurement-... W&

o~ HOo0mm=?cm & 5300mm=?cm

680mm=2cm & 1620 mm=? cm
7300cm=?m £ 20800cm=?m

9000 cm=>m £ 80000cm=?m

o N In

5000 mm = ? m a&g 66 000 mm =2 m
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